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Библиотека СОК  

https://www.c-o-k.ru/library/instructions/brands


�����
��

��
�������������������
�


��
���
������	����
�
��

���
�����
����
�
��

��
�
��	����
�
��
����� ����
�
�
�	��
��
���

��
��

��

���
��

���������
�
�
�
��
��
�����!�
���

"�
���
��

��
�����
��
��
��������
�������
����
���
��
������
���
��
�����
�
��
�
�

�
��
���
����	�����
����
�!
�
#����
�
�
�����
�! ��
��
�
��	����
�
��
�

$
�
����
�!���
�
��
����������������
��
�����
����
�
�

%� ����
�	
��������	
��
����!�
���
��	

"
�
�������
�!��������
�
�
���������
��	��
��&'()*+,-
��
 .����
������� ���
���
�����
�
�
�
����
����
��

/�
��
�������������
�����
���!

0��
#�	
��
����
���

����	
-��
���
�#�
��	


�
�������	��

������������

1��
��
�
��!���
����
�����
�
����	�
�

�
���2�
�
��
�
��



�

��������	�

���������	
	��

	��	���	��
��	
�������	�
�������������
����
��������	
 �
�


�������������������������������������

�������� !"�#$%�&' ()* +,* '+%�-

�


� �
�	���
��� ����������������������������� �

�� ��	��	����
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-�- /�01��2���333333333333333333333333333333 .
-�4 5������ 6���7�� 333333333333333333333333333 .
-�8 
1�9��2��� 333333333333333333333333333333 :
-�. ;�������<��� 61�9� 33333333333333333333333 :
-�: /��0�=��7=����>0?=� 33333333333333333333 :
-�@ A=����6=�B����� �2��=�����33333333333333 �
-�� CDD����6����E� =��70�=�<�� 33333333333333 �
-�F A���������61���� 333333333333333333333333 �
-�
 G������E� ��61����333333333333333333333333 �

�� ���� 	�����	�����	����	�� !��"�	 �������� F

#� $��"�����	�����	"�� ���	� �������������� -	

8�- H1�����01��2����������0��I 3333333333333 -	
8�4 H1�����01��2����������0��J 3333333333333 -4
8�8 ;�=07� 333333333333333333333333333333333 -8

%� &��� !�����'��������������������������� -.

.�- /�0� �����=7�<�� 333333333333333333333333 -.

.�4 ��0�1�����33333333333333333333333333333 -:

.�8 /�0�=����=� 333333333333333333333333333 -@

.�. =��������������7�01�������� 333333333333 -@

.�: K�=���� ��01��2������� 3333333333333333 -@

(� ���		 ��������������������������������� -�

:�- H�L0���M����NO 33333333333333333333333333 -�
:�4 
���7P��L��1�0���M����QO 333333333333333 -�
:�8 G�<�=�71�<�����L�2�L0��� MRO 33333333333 -F
:�. S�=������1E����=��0�1�������M����&O 3333 -

:�: ��0����������9�=���������E�MTO 333333333 4	
:�@ U�B������01�����M����VO��1����0��J333333 4	
:�� 5��1������70���6���M����WO 3333333333333 4	

)� *����	�	���	'�����+
����� !������
�,	��-�������	"�	�	 ������ 4-

.� ���/����	���" ��������������������������� 4-

0� ������	�����	��	����
�� ���������������� 4@

F�- ��������������� 33333333333333333333333 4@
F�4 A��2�=���0���BE?�0=�9=�����X#TY 33333 4@
F�8 A��2�=���0���BE?�9=�D���6

>DD����6����� 3333333333333333333333333 4@

1� 2���"����	������	�/������������������� 84


�- /=���0�=��=�6�� 33333333333333333333333 84

�4 Z����������������7�����6�� 3333333333333 84

�8 S��=�61�������� ����������33333333333333 84

�. A=�6���6���7P�����1�0���6 3333333333333 84

�: 5�����6��� �������6 333333333333333333333 84

�@ [2�=������������������� 3333333333333333 84

�
� 3������4�"� �����	5�	��
" ��	���	� ������ 88

-	�- 
6���6�>��017���<�? 33333333333333333333 88
-	�4 /����������� �2�17��6���� 33333333333333 88

��� ����/�����		����������	�����	5 ��������� 88

--�- [2�=������� 3333333333333333333333333333 88
--�4 \�=�����0=�6�1�333333333333333333333333 88
--�8 G��0�1���������01��2��������6�������� 3 88
--�. 
�2�=����2�1���>���������9��6�=����� 33 88
--�: G�971�=�6����� ��01�0=���6�����1E����� 3 8.
--�@ G�<�=�71�<�����L� 2�L0�� 333333333333333 8.
--�� K7��0�91�B���� 33333333333333333333333 8.
--�F ;�==���L���� ���L����E 333333333333333333 8.
--�
 A=���1E����=�2�������=����=������ 33333 8.
--�-	 U�9=�������� ��01��2������� 3333333333333 8.
--�-- ]2=���6����������������6���01���01��� 33 8.
--�-4 \��������E� >��017���<�� 333333333333333 8:
--�-8 Z��������0��2�=� 3333333333333333333333 8:
--�-. /����������������� 333333333333333333333 8:

��� ����	�	���	' �������������������������� 8@

-4�- /�0�I 3333333333333333333333333333333333 8@
-4�4 /�0�J 3333333333333333333333333333333333 8@

�
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>1�������� ���01�����L� �������� >��=9��2�=������%
6�1?��?���� 6� �����6� <���=�1E���� �����<����=�6%� 1���L
6���7��6���6%������1�9������9���2�=7��6�����
/�01��2�������� �������� 0=��������� ��� �����=������� �
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2�1E��<��%� �0�=��6���� ��1��%� �D����%� ���D�=��<a��1��%
01�6���1E����2����L����
��0�1E��6����� 01����������� ��01��2�������6� � 6� �������
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;����=7�<���01�������������01��2�������6��^_#&�����6�%
���� 0�=��=������� 0������ ��01�9�� M6������9�O� �� ��1����9�
M�6���9�O� � 6���7��%� 27�7��� =����1������� �1?�����6���
01��������%�������0=�����?�����=79����=79��%�21�9���=�����7
���1?�������0�=������������0��������=79��7����9=������L%
��0���6%�61�9�%����=��=9������6����=��;�1�����6����01�6�L
>��=9��%�����6����L�6��������6���7����0=�������7%����6����
��1E��������01�0=�6������������=��1�6���=����<�����0�=��7=
����7� �67��� 0���������A=�� >���� ��01�L� 6������L� 6���7�
��1��������%�����1����L�0=������L��a����9=�6������

=����	������"�����		
;����=7���6������=����=�������21����01��������01��2�������
M=����=� 01�����%� =���������� ����7� 01��������%� ���0��E
0=�������O� �0=���1�?���%� 91�6���� �2=����%� =�������
�2=�2���6����9�� 6���7���� d1�� 6����������� 0=��������
7�����6���6�=��1�������21������D�=����������6�07�������6�
��0����01��2�������6b

>	���	���'���	�����/����
K�=����0=��1�9����9��=������0�=����=�6������6���������E
0���2=��E� ��01��2������� 6� ����6����6��� �� 0=��������
�=�2�6������� ����=����9�� �2`������ 
� ��6��������� ��
��0�=����=��6�=E�=7?�����1��7?B�������6������=����=������
7�����6��b

�1������01��2��������a�����	�.����4�.��c
P�=����21����01��������01��2��������a�����	�-����8�	��c
6�1������=�������6���7���a�����:		����-		�			��8����

A������6��7�1E���7������7���97��0����61��E�����01��2�������
����������=�����=���������������7�01��������%�����������9�
27���� �2��0���6��E��� �=�27����� 6�1������ >DD����6�����
=��70�=�<�����01��

2�	����	�����	"�� ���	'
A1�������������01��2����������������9���61�6�?����6��=��
��0�1������%� ����=����� �0=���1�?B��� ���2�������� ��
0=��������b
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A1������� 21���� ��01��2�������� 6�0�1����� ��� �����9�
�1?�����%� 2���6��� 0���1�� ��=07��� � a� ��� 1����6�L� ���1�� �
�1?�����6�a<����6��� 0��=������ #�ef'+"%� �=�������
>1���������=07���a�������1?�����6���6�0=����6���
�	��	 �!�	�
	!�	�����	�������"
��0�1E�7���������=��1����������%��������1����0�1������_%
��� 01������� ��01��2�������� �� ��=07�� ���?�� �0�<��1E���
������==���L����0��=�����
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	!�	�����	���������
��0�1E�7���������=��1����������%��������1����0�1������_%
��� �1�� 9�=������<��� �=�������� �1?�����6��� >1������6
��=07��� ��0�1E�7����� ��� >0��������� ���1�%� �� �0�<��1E��L
��1�����6�L�����=��1%�7���L��6�L�����L��6�?����0�=��7=���
4		��[�

/�=�����L���� ��0�1������ 6�������� ��1E��� �1�
��01��2�������6������=7�<�����0��I�

����#
�1�� 0=��������� 6� �����6�
�����1�9������9�� �2�=7a
��6����� �� 6� ��������� ���a
��<����=�6����� �� =�������
6���7������-		�			��8����
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d1�� 01����������� ��01��2�������6� ������ 0=��1�9�?���
�1��7?B����0<��b

$�!�����%������%
H�L0���������<���6��=��6������6����������=07�%�������21��
01��������01��2��������M�2��7������9���1��0���=�����O�

$�!������������%��	��	&	�
	 ��'�
d1��>DD����6��9��=�971�=�6�������01�0=���6�����1E�����
6�2�L0����L����<�����01��2�����������=�6�������B������
���=���� �1�� =�<�=�71�<�����9�� �1�0����� /����� �2=����%
0��61������ 6���������E� =�2���� 7�����6��� 6� =�����
=�<�=�71�<���

$�!����(��������(
H�L0������ �1�0���� 0=�����61�?�� ��2�L� ���1����� ��
6�0=����6����1?�����%�0=�6�������6���L��6�����0���BE?
01��������6���P����=��L��
������0��������1�0���6�1�9��
�������=7?���������0��1��66���������������6���L��6���

)�*�
�(��������
U�B������ 01����� ���2������� �1�� ���=����� 9=���L
��01��2�������� 6� ���� �17����%� ��9��� �9�� 0=��0�1�9�����
��0�1E��6��E�6���0�1����L��1����9=�������L�6���7P��L��=����

;����������-�	,�"�	��������

A1�������������01��2���������������0=�����������6������
��0������� � ��� ��0�����1E���� � ������� 6� g���=�1E��L
/���������L� h�2�=���=��� � K6�L<�=���� 
��� �����������
������%�6������>DD����6����E�=��70�=�<������0���������61����%
0�17������������6������>������0�����L�

;��0E?��=����0=�9=�����0��2�=����01��2�������6�M����
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�
������� 0��6�1���
0�17���E� ������������ ������� 6�2=����9�� ��01��2�������
���9��>���������������=����=�������

�	"��#7�2�� ��
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/�01��2�������� �����%� 21�9���=�� ���7���6�?� 6� ���
0��6������ >1������6� �� >1���=�������� ���������L%
��1���?���� -		i� ���������E?� =�2���� �� ��� �=�27?�
��0�1����1E���� >��017���<������� =������6�

]0��� ��0�1E��6����� ��01��2�������6� ������9����1�����
�2`������ ������1%� ���� ���� 0=���������� ��� 0��6�=����
��9=������?%�0�>���7�����7���?����6��2�17��6�����
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]��7���6��� 0��6������ >1������6%� �1���6���1E��%
��19�6������E� �� 6���������E� ��0=�=�6��9�
D7��<����=�6�����

G����1E���� 0������ 0=������9�� �� 6������9�� 6���7��%
�1���6���1E��%� ���1?������ ���P����� �� ��9=�������
6���7���

]��7���6��� >1���=�������� ��������6%� �1���6���1E��%
>���������=����6�0=�������������>��017���<���
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Z�1�L� 6��� �� ���0�������E%� �1���6���1E��%� 0=������
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[���pO

[1���6���1E��%�0=����6��������������������0�=��7=�6���7P���
0�����6���01�0=���6�����1E����E��0=���1������=���������
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